vivo_ V30 &% PINHE

10:00 56l il B 10:00 6l il @
BE Q < =2
HETESEMAER

REERFHNRE

[ siv £ ]

RN EE

EnE

» sCiRieRAFERM
BAER : 5% - AT

> Hgab REES

B 90 (@ o ®2t ERRRERE

10:01 s6.l il

< SIMESEERTE

[ SIM1 ][ SIM 2
558 SIM & PIN |5 % SIM < PIN 5

BE SIM & B B

REHA PINEAAEE @ WAEPING » #IT 3 it FEAHBPING

ZE SIM R PINTS »
1 2 asc 3 ok 1 2 anc 3 ok
4 e 5w 6 1o 4 e 5w 6 1o
Trors 8w Q wirz Trors 8w Q iz
®& o (v /’] & o (v "j

< O = v (o] v (o] =

435 STV1/SIVD 5 86 AT PIN BB~ 6,861 A1) PIN T
— 85 SIM £ PIN #5 RERE

10:00 SEail il @

< SIMESHERE

SIM1 SIM 2

%458 SIM + PIN 15

$H7E SIM &

APINBABERE @

ERE AR PIN

458 SIM K PIN 75

D =

1 2 asc 3 ok
4 e 5w 6 1o

Tes 8w QGuen @ AIHEE SIMPIN

@ o =

5.2 (0] = < O =

7 B A PIN 8 SR
Al






